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1. function M = myjacobi2(A,b,m0,tol)
2. A = [10 -2 1; -2 10 -2; -2 -5 10];
3. b = [9 12 18]';
4. m0 = [0 0 0]';
5. max1 = 100; 
6. tol = 1E-15;
7. n = length(b);
8. format long 
9. for k = 1:max1
10. for i =1:n
11. iter(i+1)=i;
12. M(i) = (b(i)-A(i,[1:i-1,i+1:n])*m0([1:i-1,i+1:n]))/A(i,i)
13. end
14. err = abs(norm(M'-m0));
15. relerr = err/(norm(M));
16. m0 = M';
17. if(err<tol)|(relerr<tol)
18. break
19. end
20. end
21. M=M'
22. table(iter',M',err')

commandwindow

M =

   0.900000000000000


M =

   0.900000000000000   1.200000000000000


M =

   0.900000000000000   1.200000000000000   1.800000000000000


M =

   0.960000000000000   1.200000000000000   1.800000000000000


M =

   0.960000000000000   1.740000000000000   1.800000000000000


M =

   0.960000000000000   1.740000000000000   2.580000000000000


M =

   0.990000000000000   1.740000000000000   2.580000000000000


M =

   0.990000000000000   1.908000000000000   2.580000000000000


M =

   0.990000000000000   1.908000000000000   2.862000000000000


M =

   0.995400000000000   1.908000000000000   2.862000000000000


M =

   0.995400000000000   1.970400000000000   2.862000000000000


M =

   0.995400000000000   1.970400000000000   2.952000000000000


M =

   0.998880000000000   1.970400000000000   2.952000000000000


M =

   0.998880000000000   1.989480000000000   2.952000000000000


M =

   0.998880000000000   1.989480000000000   2.984280000000000


M =

   0.999468000000000   1.989480000000000   2.984280000000000


M =

   0.999468000000000   1.996632000000000   2.984280000000000


M =

   0.999468000000000   1.996632000000000   2.994516000000000


M =

   0.999874800000000   1.996632000000000   2.994516000000000


M =

   0.999874800000000   1.998796800000000   2.994516000000000


M =

   0.999874800000000   1.998796800000000   2.998209600000000


M =

   0.999938400000000   1.998796800000000   2.998209600000000


M =

   0.999938400000000   1.999616880000000   2.998209600000000


M =

   0.999938400000000   1.999616880000000   2.999373360000000


M =

   0.999986040000000   1.999616880000000   2.999373360000000


M =

   0.999986040000000   1.999862352000000   2.999373360000000


M =

   0.999986040000000   1.999862352000000   2.999796120000000


M =

   0.999992858400000   1.999862352000000   2.999796120000000


M =

   0.999992858400000   1.999956432000000   2.999796120000000


M =

   0.999992858400000   1.999956432000000   2.999928384000000


M =

   0.999998448000000   1.999956432000000   2.999928384000000


M =

   0.999998448000000   1.999984248480000   2.999928384000000


M =

   0.999998448000000   1.999984248480000   2.999976787680000


M =

   0.999999170928000   1.999984248480000   2.999976787680000


M =

   0.999999170928000   1.999995047136000   2.999976787680000


M =

   0.999999170928000   1.999995047136000   2.999991813840000


M =

   0.999999828043200   1.999995047136000   2.999991813840000


M =

   0.999999828043200   1.999998196953600   2.999991813840000


M =

   0.999999828043200   1.999998196953600   2.999997357753600


M =

   0.999999903615360   1.999998196953600   2.999997357753600


M =

   0.999999903615360   1.999999437159360   2.999997357753600


M =

   0.999999903615360   1.999999437159360   2.999999064085440


M =

   0.999999981023328   1.999999437159360   2.999999064085440


M =

   0.999999981023328   1.999999793540160   2.999999064085440


M =

   0.999999981023328   1.999999793540160   2.999999699302752


M =

   0.999999988777757   1.999999793540160   2.999999699302752


M =

   0.999999988777757   1.999999936065216   2.999999699302752


M =

   0.999999988777757   1.999999936065216   2.999999892974746


M =

   0.999999997915569   1.999999936065216   2.999999892974746


M =

   0.999999997915569   1.999999976350501   2.999999892974746


M =

   0.999999997915569   1.999999976350501   2.999999965788160


M =

   0.999999998691284   1.999999976350501   2.999999965788160


M =

   0.999999998691284   1.999999992740746   2.999999965788160


M =

   0.999999998691284   1.999999992740746   2.999999987758364


M =

   0.999999999772313   1.999999992740746   2.999999987758364


M =

   0.999999999772313   1.999999997289930   2.999999987758364


M =

   0.999999999772313   1.999999997289930   2.999999996108630


M =

   0.999999999847123   1.999999997289930   2.999999996108630


M =

   0.999999999847123   1.999999999176189   2.999999996108630


M =

   0.999999999847123   1.999999999176189   2.999999998599427


M =

   0.999999999975295   1.999999999176189   2.999999998599427


M =

   0.999999999975295   1.999999999689310   2.999999998599427


M =

   0.999999999975295   1.999999999689310   2.999999999557519


M =

   0.999999999982110   1.999999999689310   2.999999999557519


M =

   0.999999999982110   1.999999999906563   2.999999999557519


M =

   0.999999999982110   1.999999999906563   2.999999999839714


M =

   0.999999999997341   1.999999999906563   2.999999999839714


M =

   0.999999999997341   1.999999999964365   2.999999999839714


M =

   0.999999999997341   1.999999999964365   2.999999999949703


M =

   0.999999999997903   1.999999999964365   2.999999999949703


M =

   0.999999999997903   1.999999999989409   2.999999999949703


M =

   0.999999999997903   1.999999999989409   2.999999999981651


M =

   0.999999999999717   1.999999999989409   2.999999999981651


M =

   0.999999999999717   1.999999999995911   2.999999999981651


M =

   0.999999999999717   1.999999999995911   2.999999999994285


M =

   0.999999999999754   1.999999999995911   2.999999999994285


M =

   0.999999999999754   1.999999999998800   2.999999999994285


M =

   0.999999999999754   1.999999999998800   2.999999999997899


M =

   0.999999999999970   1.999999999998800   2.999999999997899


M =

   0.999999999999970   1.999999999999530   2.999999999997899


M =

   0.999999999999970   1.999999999999530   2.999999999999351


M =

   0.999999999999971   1.999999999999530   2.999999999999351


M =

   0.999999999999971   1.999999999999864   2.999999999999351


M =

   0.999999999999971   1.999999999999864   2.999999999999759


M =

   0.999999999999997   1.999999999999864   2.999999999999759


M =

   0.999999999999997   1.999999999999946   2.999999999999759


M =

   0.999999999999997   1.999999999999946   2.999999999999926


M =

   0.999999999999997   1.999999999999946   2.999999999999926


M =

   0.999999999999997   1.999999999999985   2.999999999999926


M =

   0.999999999999997   1.999999999999985   2.999999999999972


M =

   1.000000000000000   1.999999999999985   2.999999999999972


M =

   1.000000000000000   1.999999999999994   2.999999999999972


M =

   1.000000000000000   1.999999999999994   2.999999999999992


M =

   1.000000000000000   1.999999999999994   2.999999999999992


M =

   1.000000000000000   1.999999999999998   2.999999999999992


M =

   1.000000000000000   1.999999999999998   2.999999999999997


M =

   1.000000000000000   1.999999999999998   2.999999999999997


M =

   1.000000000000000   1.999999999999999   2.999999999999997


M =

   1.000000000000000   1.999999999999999   2.999999999999999


M =

   1.000000000000000
   1.999999999999999
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